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3. the Igeld DEO) Zolg Fahul?

O 8 @ 12 ® 16 @®)20 ® 24

AC:CD=7:14=1:2
BC:CE=6:12=1:2

(ACB = /DCE (-~ 9&2]2})

. AABC 2 ADEC

w2t AB:DE=1:2=10:x, x =20 o|t}.




4. o5 IHNA x o dole?

©6cm @ 7cm ® 8cm @ 10cm ® 12cm

~&B

(CE ¥%, (BAC=/DBC
AABC O ABDC(AA = )
BC: AC=CD: BC
4:(x+2)=2:4, .. x=06(cm)




th& 1”elA] /B = /DAC = 90°, ZACB = /DCA ©]t}. o] o, x o]
A2?

@ 15 @16 ® 17 @ 18 ® 19

B

AABC ¢} ADAC 9|4 /B = /DAC,

/ACB = /DCA, /ABC = /DACC|E=2
AABC @ ADAC (AA B-S)
AC:DC=BC:ACO|EZ 12:x=9:12
Ox = 144 Lx=16




(1) AABC 9} AAED 9|4 /A = 85, /ACB = /ADE = 40°
LAAEE

(2) AABC €} AACD 94l ZABC = /ACD = 90°
AB:AC=3:5

BC:CD=28: 430 3:5

L SAS Fe




oS 2304 AB = 9cm , BC = 6cm , AC = 12cm , BD = 4cm ¥
o, CD ¢] Zo]=?

@ 4cm @ 5cm ® 6cm @ Tcm ®)8cm

S5 ~
AABC 2} ACBD 9| A

AB:BC=CB:BD=3:2

(BE3TF

. AABC ¢ ACBD (SASE-2)

AB:CB=AC:CD

9:6=12:x

L x=38




tt& 7oA LA = /DEC ©]1 AD
2cm , CD = 4em , CE = 3cm € o, x
ol

® 4em @ 4.5cm (@)SCm
@ 5.5cm ® 6cm

)

B

/C 7} 250|311, /A = /DEC o|B2
AABC @ AEDC ©|t}.

H@eH7 21 0B8R

2:1=BC:4

BC = 8(cm)

s.x=DBE =8-3=5(cm)




th& 9y 28 AABC oA ADLBC, ACLBE ©]X, BE ¢} AD
ol -2 p gt otk BD = DC = 8cm, PD = 6ecm & o, AP 9]
dol=?
B ~8cm-"D~8cm-~
@ 2cm @ 1.5cm ® 2.5cm
14 17
@ S om ® S om

—€B \
ABDP 2} AADC ©f|4 /PBD = /CAD

/PDB = /CDA = 90° |2 &

ABDP @ AADC (AA BS)
BD:PD=AD:CD°|E28:6=AD:8

32

3
— 2 14
AP:%—6:§ (cm)

AD




10. The TY0lA BAC = 90°, ADLBCY 1, x| 72 Fobw?

@ 3 )4 ® 5 @ 6 ®7

AB’ =BDxBC o|2&
82 = xx 16
x=4




11. & 283} Zo] /B =90°2 AABCOJA ACLBD ¥ o, AABC 9]
BlolE Fotd?

D)20cm? @ 2lcm? @ 22cm?

@ 23cm? ® 24cm?

ADBA 0 ADCB °| B2
BD” =8x2
BD =4

1
2. AABC = 3 X (84 2) x4 = 20(cm?)




12. o8 oA AB = 12cm, AD = 9em , AC =acm, BC =6cm Y
o, x O] Zt-& aol Toto] UEhH?

A

\

'.

qcm

/

/

~~6em--~ C
2a a a
@ 3a @ ? @5 @ g @ 2a

/B =35 BD : BC = BC : BA =1 : 2022
ABDC & ABCA(SASES)
SeH|7}1:20|BR x:qg=1:2

a

X =<

2




13. th& 29| A2 ABCD 14 AB = 3, BD = 5, AD = 4 ©|t},
BC ©] %2 M, AM 3 BD ©] a2 P 2k & ), BP o] Zol&?

S S

W=
Wl
©
®
Q| >
9,
W] ot

B ‘
ABPM I} ADPA ©JA]

/BMP = /DAP (- 92}

/BPM = /DPA (- ¥Z2)Z}

. ABPM oaDPA (AA BS)

BP:DP = BM: DA o]|22

BP:DP=2:4=1:2




14. thg 297 o] LA — 90° 2 aABC 4] 4 M o] 9|44l u], DI
o Pl

o2 @Y o

~&B

AADB ¢} ACDA = 5H2o]B2 g AD” — 8x 2 = 16 ©|t}.
webA AD = 4 ot}
A M o] elAlo]BEZ AM =5, MD = 3 o]t}

ol 2
—_
D
—
oo

AAMD 9] Yol - xMD x AD = — x3x 4 = 6 o|t},

1 _
= - DH, ..DH= —
6 2><5>< s 5




15. T I™A A =30°< W, /BFD ] A7]9F 27|17F 22 427

@ 55°, ZADC
@)e0°, sBDC

A

Q

® 50°, LEBC ® 65°, /BAC

® 170°, /ABE

/BFD = /CFE = 180° - (.FEC + /FCE) = 180° — (\DBC +
/DCB) = /BDC = 60°




